PART -1

GENERAL STUDIES
1. When environment aspect is taken into account in the calculation of GDP, it is called
(a) Social accounting (b) Environmental accounting
(c) Green accounting (d) Economic accounting
2. When was the Service Tax introduced first time in India ?
(a) 1990 -91 (b) 1994 —95 (c) 1996 -97 (d) 1999 — 2000
3.  “Pradhan Mantri Jan Dhan Yojna” was launched on
(a) 28h August, 2014 (b) 28h September, 2014
(c) 28" October, 2014 (d) 28" November, 2014
4. In Global Hunger Index 2014, India has been placed at
(a) 55" (b) 56" (c) 57" (d 58"

5. The full form of “NITI” Aayog is
(a) National Institute for Transforming India
(b) National Individual for Transforming India
(c) National Institute for Transitional India
(d) Natural Islet for Transport Involute

6.  Financial year of Government begins from

(a) Calendar Year (b) Ashwin Shukla
(c) Beginning of April (d) Kartika - Saka
7.  Kalibangan is in
(a) Rajasthan (b) Punjab (¢) Sind (d) Maharashtra
8.  Buddha attained Nirvana at
(a) Taxila (b) Champa (¢) Kausambi (d) Kushinagar
9.  Hawkins came to the court of
(a)  Shershah (b) Akbar (c) Aurangzeb (d) Jahangir
10. National Research Centre on Seed Spices is situated at
(a) Tabiji, Ajmer (b) Lalgarh, Bikaner
(c) Pahuna, Pantnagar (d) Aroma, Ranchi
11. In Uttarakhand since 2000-01 to 2013-14 the production of
(a) rice is declining (b)  wheat is increasing
(c) pulses is declining (d) total foodgrains is almost constant
12. In clean city ranking out of 476 city surveyed, the cleanest city is
(a) Hardwar (b) Mysore (c) Jaipur (d) Gangtok
13. What is the objective of “Horticulture Mission for North East and Himalayan States” ?
(a) Promoting Horticulture (b) Promoting Organic farming
(c) Promoting inorganic farming (d) All of the above
14. 'When was National Agriculture Insurance Scheme started ?
(@) 22" June, 1999 (b) 21" June, 1998
(c) 05" June, 2000 (d 10" June, 2001
15. District having maximum handicrafts Units in Uttarakhand is
(a) Uttarkashi (b) Pithoragarh (¢) Almora (d) Tehri Garhwal
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1. 9 YAERYT GET o Hebed BRe] SCAIg b o1 § AiHferd fohar ST &, 9 39 el ST &

(a) WIS TRATHA (b) THTERUIT AGTHA

(c) ERa erEish (d) 3T e
2. 9RA § GAVHT AT e AT T 2

(a) 1990-91 (b) 1994-95 (c) 1996-97 (d) 1999-2000
3. YUY G S €9 AT AT @ e o

(a) 28 3T, 2014 &I (b) 28 TAwR, 2014 =

(c) 28 3SR, 2014 H (d) 28 TR, 2014 i
4.  dfyerek Y@ GEshish 2014 H YR &M &

(a) 559 (b) 56dT (c) 57t (d) 58df

5. =ifd (NITI) 31T 6 faeaia &9 &
(a) T SRS TR JFARIET ST (b) AT SrUeiosael ®R AR Svear
(c) IO SRERIE B JFTHA e (d) et 3TEele ik Ul Saiode

6. TR I foig o Y& Bl &
(a) HvRX AT (b) AWEAYTHFAT  (c) A B IFA I (d)  HIAH-I6

7.  HEATE

(a) ITTHEEHE (b)) UWEH (c) fowrd (d) R H
8. % farr v fear

(a) RISTST (b) = (c) oL (d) PR
9,  EIh~ 3T &1 LER |

(a) VMW FH (b) AP H (c) IN=EH (d) SRR %

10. T SIS AECT WY e (g §
(a) OIS, ST H(b) ONIE, MR H (¢) Uel, UaR A (d) oRmn, = |

11. 3ITEUS H 2000-01 T 2013-14 T IARA

(a) A BEEEE | (b) TEHITEIE |

(c) TAFETEE | (d) o1 TRIFT 61 o feR |
12. T ST HilC H 476 W o TT0T H Wesdd e &

(@) @R (b) R (c) AR (d) TR
13. ‘TR MM BR A 2 T0S EHIer s el & 71 ¥ & 2

(a) STTEF ol TcHTe (b) i Tt T WedTeT

(c) ifaeh Wl i WicHE (d) STRIeRT T

14. T HY AT FSHT e & D T o 2

(a) 225, 1999 ®i(b) 21 SH, 1998 I (c) 55, 2000 (d) 10 SF, 2001
15. STRIEUS § ATuehad sXdiTed Shredl arell STl &

(a) SECHRI (b) foeRTTE (c) reHrEl (d) feedt e
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16. Satopanth is a

(a) River (b) Pass (¢) Glacier (d) Mountain peak
17. One plant of Indian Drugs and Pharmaceuticals Limited is located in Uttarakhand at

(a) Hardwar (b) Roorkee (c) Haldwani (d) Rishikesh
18.  One of the following districts ranks first in “Investment Attraction Index” :

(a) Udham Singh Nagar (b) Hardwar

(c) Nainital (d) Dehradun
19. Who founded the Garhwal School of Painting ?

(a) Mangat Ram (b) Hira Lal (c) Shyam Das (d) Mola Ram
20. Which of the following is known as ‘Switzerland of India’ ?

(a) Dehradun (b) Nainital (c) Pithoragarh (d) Kausani
21. Which of the following festival is known as Sankranti ?

(a) Bikhoti (b) Bhitoli (c) Harela (d) Phuldeai
22. Chanchriis a

(a) Traditional folk dance (b)  Group song dance

(c)  Group music dance (d) Jagar dance

23. Choose the correct answer from the followings :
(a) Uttarakhand is the 26" State of India.
(b) The location of Uttarakhand is in between 28°43" north to 31° 27' north in latitudes.
(c) Uttarakhand is bounded by three States.
(d) The total geographical area of the State is 53,000 sq. kilometres.

24. The extent of mountains in Uttarakhand follows the direction from

(a) North-west to South-east (b) North-east to South-west
(c) North-east to South-east (d) North-west to South-west
25. The largest drainage system of Uttarakhand is
(a) the Yamuna drainage system. (b) the Ganga drainage system.
(c) the Kali drainage system. (d) the Ram Ganga drainage system.

26. The Valley of Flowers National Park was declared World heritage by United Nations
Organisation in the year

(a) 2004 AD (b) 2005 AD (c) 2006 AD (d) 2007 AD
27. Tribe engaged in pastoralism is

(a) Tharu (b) Bhotia (c) Boksa (d) Raji
28. ‘Dholasagar’ is written in the language of

(a) Garhwali (b)  Sanskrit Misrit Garhwali

(¢) Kumaoni (d) Sanskrit
29. What name was given to Tarai-Bhabar by Muslim historians ?

(a) Daman-a-Koh (b) Daman

(¢) Koh (d) Firad-a-Koh

30. How many phases are there in marriage ceremony of Tharu Community ?
(a) Eleven (b) Thirteen (c) Four (d) Six
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16. HdIUT & TH

(a) Tl (b) T (c) Teumt (d) e =Rl
17. =Usa T U BHIECHeT [ HT Th T STREUS § g &

(a) BERA (b) FHH (c) @=ar | (d) HERIT T
18. = foedt & @ “fafam smepdor gaeis” | vew W €

(a) SUAMHE TR #(b) BRER & (c) =raTet = (d) <EET H

19. TEaTer Thet St YT i TIAT a2
() WA (b)) FWAAA (c) IR (d) Hrem T

20. 1 H ¥ 9RA A Raesreive {6 ST S & 2

(a) e (b) e (c) ToeinTe (d)
21. 9 ¥ 9 SN 91 GRR Gehitd 9§ ST ST € 2

(a) forgreit (b) Tl (c) 7L d) FeE
22. @RI EUH

(a) TRERIT A FT (b)  |HEe T JeI

(c) e Tl J (d) SR F=

23. =i B 9 W& 3 9
(a) STREUS HRA 1 2687 T € |
(b) STEUS i fEfd 28°43' ST A 31°27' ST AWM F A ¢ |
(c) TIETE diF weel 9 Ry & |
(d) STREUS H FA HMiicTsh &dTHA 53,000 T FHAHI & |

24, ITRTEUS H UEdl 1 thold o feumat @t ek § ag &

(a) STRUNEH ¥ 3RI0L-gE (b) UYL ¥ IrRIOT-UTEH

(c) WY ¥ Iheor-gd (d) STRUREH ¥ 3Ror-uey
25, STRIEUE ! Ted 98T AUAE YOTeAl &

(a) IEAT YIS HOTEAl (b) T 3THETE HUTEA!

(c) ST SAUETE YOTeAt (d) T I I FOTAT
26. TGl I HTEI LA I T TR AL T R o9 €Rie< e feram mam oy

(@ 2004TH  (b) 2005%H (c) 2006% H (d 2007%TH
27. UR[EROT § ol S ©

(a) o9& (b) wfean (c) der (d) T
28. @icT AR 51 9o 1 feran mar 9w &

() ﬂaawﬁ (b) Tewd Tafs TeaTett

(c) TSI (d) T
29. YR SRR 3 ARE 9eR 6 g A ¥ 3FRa a2

(a) TEETHE (b)) T (c) e d) TwET=E
30. o4& TS ¥ foare & fohde =T B € 9

(a) TRE (b) e (c) =R @ ®
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41.

42.

43.

44.

45.

46.

Gupta Samvat started in

(a) 320 A.D. (b) 319 A.D. (c) 322 AD. (d) 321 AD.
In Uttarakhand, most of the Paper Mills are located in the district of

(a) Nainital (b) Dehradun

(c) Udham Singh Nagar (d) Pauri

Which organ of Shiva is enshrined at Tungnath, one of the Panch Kedars ?
(a) Navel (b) Mouth (¢) Arm (d) Lock/Jata

Kabutari Devi is related to
(a) Folk Songs (b) Folk Dance (c) Folk Stories (d) Folk Paintings

Which one of the followings is considered to be the last Katyuri King ?

(a) PritamDev (b) Dham Dev (c) Brahma Dev (d) Pushkarheet
One among the followings is a Padma awardee of Uttarakhand relating to trade.

(a) K.S. Valdiya (b)  Shekhar Pathak

(c) Laxman Singh Jangpangi (d) Pt. Nain Singh

Name the Committee which recommended 42™ amendment in the Constitution.
(a) Y.B. Chawan Committee

(b) A.B. Ghani Khan Choudhary Committee

(c) Gurdial Singh Dhillon Committee

(d) Swaran Singh Committee

Which Article is related to Power of Parliament to amend the Constitution of India ?
(a) Article 370 (b) Article 368 (c) Article 354 (d) Article 360

‘A Grammar of Politics’ is written by

(a) Earnest Barker (b) T.H. Green

(c) Michael C. Curtis (d) Harold J. Laski
Which State was created in India in 1953 ?

(a) Andhra Pradesh (b) Orissa

(¢) Tamil Nadu (d) Assam

Justice Sarkaria Commission was constituted to look into the
(a) Boundary disputes between States.  (b) Reorganisation of the States.
(c) Centre-State relations. (d) None of these

One of the following States in India has Legislative Council :
(a) Orissa (b) Assam (¢) Tamil Nadu (d) Karnataka

The Doctrine of “Natural Rights” was propounded by
(a) Karl Marx (b) John Locke (¢) Thomas Hobbes (d) T.H. Green

The number of non-permanent members of United Nations Security Council is

(@ 5 (b 7 (c) 10 (d 15
Who said, “Imperialism is the highest stage of Capitalism” ?
(a) V.1 Lenin (b) Karl Marx (c) Mao-Tse Tung (d) Joseph Stalin

Under which Constitutional Amendment Act, the number of Lok Sabha Members was
increased from 525 to 545 ?
(a) 29" (b) 34" (c) 26" (d) 31"
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31. T gad R g3l

(@ 3205 H (b) 319 (c) 32%H (d 3215 H
32. STRIEUS | SR HAT fet i et o ferg & s &

(a) e (b) <& (c) YHEE TR (d) gt
33. T S o U9 SRR A 9 U &, W e o R S ge et & 2

(a) FNT = (b) YERE< ot (c) dEm® (d) S

34, I I H G T
(a) eHMA T (b)) WEHII I (c) THFETAY (d) A Foehel

35. foeAifepd & S 31w shegdt TSI | ST € 2

(a) | (b) W IT (c) s&Tsa (d) T=E
36. 1 H ¥ U ITEUS F UGH R H A €, ST AU § 96 ¢

(a) HUE. dfear (b) IR UCH

(c) T THe Shramy (d) d A TTE
37. Ifaue | 429 HE i ({GwIeT w3 arel 9iHfd & AW 8

(a) GTEHT. TEaToT QAT (b) TS, T @I =t |iAa

(c) TRz g feoet Qfafa (d) =T T gt

38. 9RA % GAY 1 B FT 3T TS T GoHT-eh FYME B Y IoRT ¥ G4 ¢ 2
(a) 3WT370 (b) =T 368 (c) 3TT=T 354 (d) =T 360
39, ‘T UM 3 Uifcitesra & Iraaar €

(a) 3T AR (b) 2ATT UA

(c) HIEHeT Tl HiH (d) TTS S, AT
40. T 1953 § 9RA H HH A1 IT AT | 3T 2

(a) =T TRY (b) g (c) dafgerTg (d) =°
41. = WHIRAT ST 59 fowg 6t St ggdret & ed 6T T, a9 o

(a) o= % o G foars (b) T HT GAITRA

(c) HE-IT =Y (d) T 9 e &
42, WRA H = I H F U H foue uRg

(a) g (b) 3TEH (c) dHAE (d) HACH

43. VTP AERT I Fag wfquied frar ar

(a) HAAEA (b)) SAABA (c) ormH gy A (d) A= AT
44, TIH T DGR URGE T ST TLT i T &

(@ 5 by 7 (c) 10 (d) 15

45. “WHSTATE YSTETg 1 AT Tge & — ohashT o § 2

(a) e AfFE (b)) e Oy (c) TTeT-cH-GT (d) SEE wieH
46. o GorTter Helge SR o STrTd olish T o TS&! &l T 525 W 545 &1 T 2
(a) 29at (b) 34dt (c) 26dt (d) 3@t
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59.

60.

61.

62.

Bachpan Bachao Andolan is associated with

(a) Anshu Gupta (b) Malala Yousafjai

(¢) Medha Patkar (d) Kailash Satyarthi

In 2015, Bharat Ratna was awarded to A.B. Vajpayee and

(a) LalaLajpat Rai (b) Bal Gangadhar Tilak

(c)  Subhas Chandra Bose (d) Madan Mohan Malviya

Who among the followings won Stockholm Water Prize in the year 2015 ?

(a) Arundhati Roy (b)  Chetan Bhagat

(c) Rajendra Singh (d) Amitav Ghosh

Which freedom fighter authored ‘India Wins Freedom’ ?

(a) Subhas Chandra Bose (b) Maulana Abul Kalam Azad

(c) Chandra Shekhar Azad (d) Bhagat Singh

Rishikesh is also known as the

(a)  Ashram Capital of the world (b) Temple Capital of the world
(c) Yoga Capital of the world (d) Sanskrit Capital of the world
Uttarakhand is the State of Republic of India.

(a) 25" (b) 26" (c) 27" (d) 28"
Legislative and Judicial capital of Uttarakhand are

(a) Both at Dehradun (b) Dehradun and Nainital

(c) Nainital and Almora (d) Dehradun and Almora

World’s highest Gurudwara is situated in the district of

(a) Chamoli (b) Mandi (c) Ladakh (d) Champawat
Harihar — II invaded and extracted tribute from

(a) Bengal (b) Burma (c) Ceylon (d) Thailand
The Capital of Shivaji was

(a) Prayag (b)  Aurangabad (c) Nagpur (d) Raigarh
Swachh Bharat Mission was launched on

(a) 5" December, 2011 (b) 20" November, 2012

(¢) 2" October, 2014 (d) 2" January, 2015

Crimea, which was recently annexed by Russia was a part of

(a) Ukraine (b) Azerbaijan (c) Georgia (d) Latvia
The first Governor of Uttarakhand was

(a) K.K. Paul (b) Margaret Alva (c) B.L. Joshi (d) S.S.Barnala
For 2014 Dada Saheb Phalke Award was given to

(a) Shashi Kapoor (b) Mary Kom

(c) Amitabh Bachchan (d) P.V.Sindhu

A country which is a part of the European Union but does not use Euro is

(a) United Kingdom (b) France

(c) Spain (d) Germany

Ameenah Garib Fakim, sworn in as the President of Mauritus, is also a prominent
(a)  Scientist (b) Lawyer (c) Doctor (d) Academician
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47. UUT TEIS AR H IS &
(a) 3 I (b) Tl Ig&STE  (c)  HET Uleahe (d) oISt Gt

48. T 2015 H 9RA T TRGHR T, 0T 3R ot feam & o |
(a) AT AT T (b) ST TR fdeteR
(c) [N TF I (d) ST HieT AAdE

49. T 7 ¥ o= a9 2015 T RiheM deX JTHR S 2
(a) oEEAT@ (b)) Tad W (c) i foe (d) e A

50. o Tord=rn S S9E A Sfvear fog hied gedeh bt T 6 2

(a) IS TF a9 A (b) TIAMT 37T FHellq TG

(c) TSR 3TNTE A (d) g
51. HTh3T 1 3@ A I o ST S &

(a) o =l afem st (b) fowa =t Af=T TTaE

(c) fawa =t = Toram (d) fova = Tepd ST
52. YR TR H STETE T BT E |

(a) 25dt (b) 263t (c) 27at (d) 28df
53. SWEUS W Ut R el T €

(a) T EEA | (b) <TG 3R e H

(c) =HidTeT 3R aredrer § (d) TEGH SR TSl §
54. fove = geitus e W e Tesn e St d g e E

(a) = (b) TS (c) oEE (d) =HEd
55. e fgda 3 STshHuT ik He T i

(a) A" (b)y T H (c) T H (Ceylon) (d) 9IEeivsd
56. TerETSit s TS ot

(a) wam (b) SIRTETR (c) ArYE (d TIE

57. O YR M9 IR gaT
(a) 59w, 2011 (b) 20 76, 2012 (¢) 2 3RS, 2014 (d) 2 SHEI, 2015

58. shifan, {519 WX BTt & °§ &9 7 whesll fohdl, Teet feedn 1
(a) I I (b) TSRS T (c) ST (d) <ateEn H

59. ITHEUE & Ugel Is9UT 9
(a) HF A (b) TR fear (c) e, et (d) TIETE, AT

60. T 2014 I TTET HEd Hlosh JLEHR <21 11 o
(a) VRTHFRSH  (b) W HWH HI (c) AT R (d) dar feyg

61. U 3 S FRITYF Ja T &G & TR I 6T WA el el o &

(a) T (b) W (c) T (d) S
62. AT W Wi e ARV % T2uid o €9 H IGWR J8UT AT €, o U ufdfted i ¥ |
(a) O (b) HAETE (c) Tafercas (d) Teremias
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65.
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70.

71.

72.

73.

74.

75.

76.

77.

Sansad Adarsh Gram Yojana was launched in
(a) 2010 (b) 2011 (c) 2013 (d) 2014

Who among the following was also a poet and a musician who took delight in the title of
‘Kaviraja’ or king of poets ?

(a) Chandra Gupta Maurya (b) Samudra Gupta

(c) Skand Gupta (d) None of these

Who founded the Asiastic Society of Bengal in Calcutta for the development of
education ?
(a) Jonathan Duncan (b) William Jones

(c) Warren Hastings (d) Charles Grant

Who among the following faced impeachment in England for his acts committed as
Governor General of India ?

(a) Cornwallis (b) William Bentinck
(c) Warren Hastings (d) Lord Wellesley
Famous literary work Tahqiq-a-Hind was written by

(a) Alberuni (b) Badauni

(c) Ziauddin Barni (d) Khafi Khan

The founder of Sunga dynasty was
(a) Agnimitra (b) Divakaramitra (c) Pushyamitra (d) Vasumitra

Who were the originators of the Dravidian Style of architecture and sculpture in the South
Indian peninsula ?

(a) Cholas (b) Hoysalas (c) Pallavas (d) Pandyas

The Italian traveller who left very praiseworthy account of the Vijayanagar Empire was
(a) E.Barbosa (b) Manucci (c) Marco Polo (d) Nicolo Counti
Gupta Empire declined in the fifth century A.D. as a consequence of

(a) Chalukya invasions (b)  Greek invasions

(¢) Huna invasions (d) Pallava invasions

Two sons and one grandson of Emperor Bahadur Shah II were publicly killed by

(a) Jones Micholson (b) Henry Lawrence

(c) Lt. Hudson (d) Sir Hugh Roe

The Goldmines of South Africa are near which of the following ?

(a) Durban (b) Capetown (c) Johannesburg (d) Nile Delta
The McMohan line lies between

(a) U.S.A. and Canada (b) Russia and China

(c) England and Ireland (d) India and China

One of the following was the leader in Industrial Revolution.

(a) Germany (b)  Great Britain (c) U.S.A. (d) France
Amritsar, Ajmer and Vatican City are

(a) Commercial towns (b) Religious towns

(¢) Industrial towns (d) Port towns

From area point of view, India’s rank in the world is
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63. TS R UMW IS URET &8

(a) 2010 (b) 2011 H (c) 2013H (d) 2014H

64. = T T P T Bl Ud GriaT AT ST WF Dl HORST AT “Higdl H GHT & T §
BT gl &7
(a) TEI@HE (b)) W (c) Fb=d (d) T8 FE T

65. T¥TeT % faehTT & ot H URTATICS HIMTES! ST ST Sht TToAT o <l 2
(a) ST SFAA (b) fafemESIEA  (¢) dRagiedd (d) wegu=d

66. T4 ¥ ¥ forEehl WA & TeFK ST o a1 o [T STAvE | HETTH=NT T HIHAT hiT Il ?
(a) HHATAGH (b)) fafermSEH®R () aRARETTH  (d) WIS delsTell B

67. TS e Hia Tehlh-U-le= Sl T St ot

(a) SEEEAA  (b) S A ©) FEsHasT @) weEA
68. T[T TSTORT T TEAIh o7

(a) AT (b) TRaERHET (c) oM (d) agH=
69. TR IR WEEIT H F(ag Sehell T RIedshet Sietl & Yo i & 2

(a) = (b) EIT (c) Yoo (d) e
70. € TEA-AET ST TOSTaT ST S ARG Ui AT o1

(a) EaREEr (b) T (c) T arel (d) e wE=t
71. e STERT H I ST % 90 S BRI 91

(a) T STSHAUT (b)  IAMT SMHHATT ()  BUT STSRHTT (d) Uood 3THATT
72. SIRYIE SEIGENE T5id o &1 YAl Ud U U St ST gl i o

(a) ST oo = (b) T T A

() U< esdT (d WETAA
73. <RIUT SRR H Wi B TEH 1 § 9 e GHIT IE ST § 2

(a) T (b) FURA (c) STergs (d) et ST
74, HehHiET W@ e g e g E

(a) JTAT. 3T FHATET (b) IemEm &AR” ==

(c) Tivg 3 MRATE (d) YRT 3R I
75. T § 9§ U T Shii=d T GREET o

(a) A (b) U oA (c) JUAT (d) W

76. 3T, STHT 3R dfeh G2t
(a) SUNEHTRE | (b) HUMHFTRE | (¢) SAMHTRE | (d) T<EMEARE |

77.  &EIhAT i ST W WRA i fova § =M
(a) T (b) dreEr (c) qat (d) emear
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80.

81.

82.

83.

84.

85S.

86.

87.

88.

89.

90.

Which of the following is the major component of Ecosystem ?

(a) Biotic components (b)  Abiotic components

(c) Energy (d) All of the above

Which of the following is the main component of biomass ?

(a) Animals (b) Soils (c) Terrain (d) Vegetation

The length of coastline of India mainland, Lakshadweep and Andaman Nicobar Islands is
about

(a) 6,100 kilometres (b) 6,200 kilometres

(¢) 5,800 kilometres (d) 7,516.6 kilometres

Which of the following statement is correct for all birds ?
(a) Have feathers and can fly.

(b) Lay eggs and are endothermic.

(c) Teeth are absent and RBC are without nucleus.

(d) Lungs are spongy and heart is three chambered.

Colour-blindness is related with defect in

(a) Rods (b) Cones

(¢) Rods + Cones (d) None of the above

Which of the following is a bacterial disease ?

(a) Measles (b) Small Pox (c) Rabies (d) Tuberculosis
The cause of production of energy in a nuclear reactor is

(a) Controlled Nuclear fusion (b) Uncontrolled Nuclear fusion

(c) Controlled Nuclear fission (d) Uncontrolled Nuclear fission

Yeast is an important source of

(a) Riboflavin  (b) Sugar (c) Protein (d) Vitamin C
What are the two Pyrimidine bases found in DNA ?

(a) Adenine and Guanine (b) Cytosine and Thyamine

(c) Thyamine and Uracil (d) Thyamine and Guanine

What is true for Photosynthesis ?

(a) Both carbon dioxide and water are reduced.

(b) Carbon dioxide is reduced and water is oxidized.
(c) Both carbon dioxide and water are oxidized.

(d) Carbon dioxide is oxidized and water is reduced.

A seed is developed from

(a) Endosperm (b) Ovule (c) Eggcel (d) Carpel
H,0, acts as an antiseptic due to its

(a) reducing property (b) oxidising property

(c) bleaching property (d) acidic property

Alum is

(a) normalsalt (b) complex salt (c) Dbasic salt (d) double salt
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frfefed o 9 i |1 ikfefash! a= &1 TqE g2 § 2

(a) SE@EeE  (b) INAT TS (c) o (d) TE oA
=1 & 9 B A1 U SR 1 g 3§ 2

(a Y (b) Ha (c) ¥R (d) o
TRA ! T U, TG Ud STHM HehiaR i 8@l &l owllg o ©

(a) 6,100 THeAHRT (b) 6,200 THAHRT

(c) 5,800 TheAHIET (d) 7,516.6 ThetiHieT

17 O @ = 91 o ot aferal & for wei € 2

(a) UEEdEANITIRAE |

(b) USIAE A FTHEIE e € |

(c) S T8l B 3R et TorT HIUTehIST W Shrseh el el |
(d) e TS BT & 3R g5 HeReiig BT € |

Ui 7 4 9 fohT g9 9 Tty € 0

(a) ST H (b) vFH

(c) oI UH ¥ W (d) T I BE T

T © F STam] RT M |7 AT B ¢ 2

(a) TET (b)y TUF (c) &= (d) dUREH
TR (feeraR) Rudex § So11 & S0 &H 1 BROT &

(a) THafa T Se () (b) ATTAf=T ANTDE T (HFTSTH)
(c) Tt e foaue (d) ITar= T v

T Heayol | & :

(a) TEAGATT HT (b) IR BT (c) WA (d) To=m= | @
AT H U 9 e ars s e 2

(a) USHME q aHA (b) IR TAT ATTHA

(c) TgH T e (d)  THIT T T
TehTIT-HIATIT & T | 1 T ¢ 2

(a) HTe SEATHATEES Tel SToT SHI b1 0w Bl € |

(b) e STEITHATES I TUTIT qUT ST I SATFAIHLT BIAT € |
(c) TSIl e STEATHHIES TS SToT b1 SATFHIHL0T BIell & |

(d) e SEAHTFHIZES I AT Tel STeT o1 THI Biell & |

it o fah@ e e
(a) YoTag I (b) U (c) ATHWH T (d) 3Hsu¥

H,0, 3 T W] Ieeh % &9 | 1 Hl FHROT & THH

(a) ST TOT (b) TR TOT

(c) TS (T 3H M) TOT (d) T TOT

et &

(a) AW AT (b) Sieed TauT (c) &RF oauT (d) TE-erem
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100.

PART -1I
GENERAL INTELLIGENCE TEST

Paw is related to Cat as Hoof is related to
(a) Horse (b) Lamb (c) Elephant (d) Lion

What should come in place of question mark (?) in the following question ?

\[? x[3025 = 2695

(a) 2209 (b) 2307 (c) 2401 (d) 2601

If ‘black’ is called ‘white’, ‘white’ is called ‘yellow’, ‘yellow’ is called ‘green’, ‘green’ is
called ‘red’ and ‘red’ is called ‘black’, what is the colour of blood ?
(a) yellow (b) green (c) white (d) black

What is the L.C.M. of two numbers which are in the ratio 3 : 5 and whose H.C.F. is 5 ?
(a) 300 (b) 250 (c) 200 (d 75

A is 40 m South-West of B. C is 40 m South-East of B. Then C is in which direction of A ?
(a) South (b) West (c) East (d) North-East

A dice having six numbers 1 to 6 on its faces, is shown in its two positions given below.
Which number is opposite to 3 ?

1 ] 4
2
(@ 6 (b)) 5 (c) 4 @ 1

3

There are 20 people in a room. They shake each other’s hands once and only once. How
many handshakes are there altogether ?

(a 170 (b) 180 (c) 190 (d) 200

Find the term which does not fit into the Alpha-Numeric series :
1CV, 5FU, 91T, 15LS, 170R
(a) SFU (b) 9IT (c) 15LS (d) 170R

In a shop, the items are arranged in a shelf consisting of 6 rows. Biscuits are arranged
above the tins of chocolates but below the row of packets of chips, cakes are placed at the
bottom and packets of toffees are below the chocolates. The top most row has the display
of jam bottles. Where exactly are the packets of toffees, from the top ?

(@ 2" row (b) 3"row (c) 4" row (d) 5" row

Which number is wrong in the given series ?
6, 18, 36, 108, 216, 648, 1290, 3888
(a) 36 (b) 108 (c) 648 (d) 1290
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Tue - 11

T gfeg uRteror
Ot A fooett @ Geifud 8, o gT Getad gm
(a) =S (b) TEHH (c) TEH (d 9

T oo 9§ T e () & T OX ST 37T ey 2
\J? x[3025 = 2695

(a) 2209 (b) 2307 (c) 2401 (d) 2601

g ‘Pl B THS, THE H “TAr, Gl B, B Bl AT AT ATA’ I B Hal
ST &, °ff G B TT R 2
(a) dfem (b) T (c) THE (d) e

3 31 @S BT AFH, BN, ST 3 0 5% ST H ¢ 3R 3BT BHA, 58 2
(a) 300 (b) 250 (c) 200 (d 75

A, B & Sherorufvem fSen A 40 . & 1 C, B I SRI0LYH GO H 40 W |WE 199 C, A B
g e a & 2
(a) =TT (b) uiEEw © d) SEE

T U, TS ®etehl W 1 ¥ 6 d% %l TN fordt €, i 51 fefaa 4 I v 7 e 1 3 %
faoRiq i i e fordt & 2

1 4
3 2

(@ 6 (® 5 (c 4 (@ 1

THFIH 20 A& | o ThH-58 F Ueh 3R Tk Teh a1 &7 fHetd € | 9t Uoh-g@) | FeA feheH
EERCEILRI

3

(@) 170 () 180 (©) 190 @ 200
11 ot o 5 1 ug Sk TR E 2

1CV, 5FU, 9IT, 15LS, 170R
(a) 5FU (b) O9IT () 15LS (d 170R

T 3 H T U 3o H Fared &, Sad ¢ i@t € | fowgpe, dibetel & fel & S0, T
e & Yeheg i Ui % A TG MU E | heh T A 7T 2T o Uehed, wiehetel o A ¥ T
T | T SO Ul § S R W T E | S & Uehed SO Ui W, ik el 7@ T E 2
(a) T& Ul (b) o dferT (c) et dferT (d) ur=el Yo

=1 sjigen & HF 9t T@ Tord § 2
6, 18, 36, 108, 216, 648, 1290, 3888
(a) 36 (b) 108 (c) 648 (d) 1290
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109.

In a group of boys and girls, if 15 girls leave the group, the ratio of boys to girls becomes
2 : 1. After sometimes 45 boys also leave the group, then the ratio of boys to girls
becomes 1 : 5. What is the number of girls in the beginning ?

(@) 50 (b) 40 (c) 30 (d 20

Around a circular garden, there is a road 14 m wide. If the cost of getting it cemented at
the rate of ¥ 25 per sq. metre comes to < 77,000, find the area of the garden.

(a) 770 sq.m. (b) 1540 sq.m. (c) 2464 sq.m. (d) 3080 sq.m.

If ‘“+’ means ‘X’, ‘" means ‘+’, ‘X’ means ‘-’ and ‘=’ means ‘+’, then what will be the
value of 16 - 64 - 8x4+27

(a) 14 (b) 16 (c) 18 (d 24

A man invests I 20,000 at a certain rate of interest and I 16,000 at 2% higher. The whole
interest in 3 years is I 9,600. Find the lower rate of interest.

2
2%

l% (c) 8375% (d) 83

(@ 8% (b) 83

In a group, eight persons like chocolates. The remaining persons, who represent 7 times the
square root of the strength of the group, like sweets. What is the strength of the group ?

(@ 25 (b) 36 (c) 49 (d o4

Which number should be the last in the following series ?
8, 13, 23,43, 83, 2
(a) 193 (b) 183 (c) 163 (d) 166

‘ACF)’ is related to “ZXUQ’ in the same way as ‘EGJN’ is related to
(a) VUSQ (b) VTRP (c) DBYU (d VTQM

Three times a number is 122 less than the five times of another number. If the sum of the
numbers is 74, then the numbers are

(@) 19 and 55 (b) 28 and46 (c) 31 and43 (d) 50 and?24

Vijay can do a piece of work in 5 hours, while Amit can do the same work in 3 hours.
How long will they take to complete the work, if they both work together ?

(a) 1 hour 52 min. and 30 secs. (b) 2 hours
(¢) 4 hours (d) 8 hours
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el AR AS[HAT & U T W, IfF 15 Aihal TE I I 3dl &, af Aghl X ATl Bl
3T 2:1 & ST € | 5 GHT 915 45 AAeh ol e ol SIS 30 &, dl Agehl X ATHAT
3T 1:5 &I ST & | 99 | URET | {oht Arefepar & 2

(@) 50 (b) 40 (c) 30 (d 20

TS TR T & ART 31X U 14 1, gt G ¢ | AS 39 g & T 25 Ui o ot B g7
HH= A Taeh! SO 1 @9 T 77,000 AT 8, f ST S b1 &l 30 iy |

(@) 770=@H.  (b) 1540 = =, (c) 2464 = =, (d) 3080 = =,

T 4 H AT X, =" T A =, X AT = TAT = F A0+ &, @ 16 + 64 — 8
X 4 + 2 T U &AM
(a) 14 (b)y 16 (c) 18 (d 24
TS AR T 20,000 fREr ST 3T R T 16,000, 2% 3k S W AN € | 3 a9 | 39
%1 T 9,600 SATST AT BT & | HH AT & A1 DT |
(@A 8% (b) 8%% (©) 8%% (d) 8%%
T T H, § AT Bl Aol T8 & | THE & I AT, bt TN T8 % ol TEl b
A B 7 T &, THSTE 78 X & | 39 THE H Fef o T5 § 2
(a) 25 (b) 36 (c) 49 (d 64
=T oftgen | 3ifer Fwen /= g 2
8, 13, 23, 43, 83, ?
(a) 193 (b) 183 (c) 163 (d) 166
5 TE ‘ACFJ’, ‘ZXUQ’ ¥ wifed ¢, 38 @ ‘EGIN’ T g -
(a) VUSQ¥ (b) VTRPH (c) DBYU¥ (d VIQM¥
A e Fe 1 A AL SO W % U T W 122 9 & SIR e el w1 A 74 & A

(a) 19TEF55 (b) 28TF46 (c) 31143 (d) 50TE24

fosmr fomedt 61 1 5 gue H, S Hd SH FE A 3 G H YU F Fehal € | AfE o AT
TS T HF A, @t v T97 § 39 H 1 qoT BT 2

(a) 199752 fqe 3R 30 IHve (b) 289
(c) 4F0E (d) 8=
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110. Two candidates participate in an election. 10% voters did not cast their votes and 20%
votes found invalid. Winning candidate polled 75% of the valid votes and won by 10,800
votes. Find the total number of voters.

(a) 29,000 (b) 30,000 (c) 27,000 (d) 28,000

111. Find the missing term of the series :
C4X, FoU, 116R, _?
(a) L25P (b) L250 (c) L27P (d) L24M

112. The cost of a diamond varies directly as the square of its weight. Once, this diamond was
broken into four pieces with weights in the ratio 1 : 2 : 3 : 4. When these pieces were sold,
the merchant got X 1.4 lakhs less. Find the original cost of that diamond.

(a) R 2.0lakhs (b) < 2.5lakhs (c¢) % 3.0lakhs (d) < 3.5Ilakhs

113. In which ratio, a tea selling at I 140 per kg and another tea selling at I 150 per kg should
be mixed so as to make a mixture of 15 kg selling at % 2,220 ?

(a 4:1 by 3:2 (c) 2:3 d 1:4

114. A vendor sells certain number of fruits for I 70. If the price of each fruit was ¥ 2 less, he
would have sold 4 more fruits for the same amount. What is the number of fruits, he sold
originally ?

(a) 14 (b) 10 (c) 16 (d 15

115. The area of a rectangular lawn of a tourist resort is increased by increasing its length by
25% and decreasing its width by 10%. The area of the new lawn is increased by

(@) 22.5% b)) 15% (c) 12.5% d) 12%
116. Let

N =553 4+ 173 — 723, then N is divisible by

(a) Both3and 17 (b) Both7and 13

(¢) Both3and 13 (d) Both7and 17

117. I am facing North and turn 90° in the clockwise direction and then 135° in the same
direction. At last turning 270° anticlockwise, which direction I am facing now ?

(a) South-West (b) North-West (¢)  South (d) West

118. Find the odd one :
(a) December (b) January (¢) June (d) July

119. Fruit is to Banana as Mammal is to
(a) Snake (b) Fish (c) Cow (d) Sparrow

120. How many letters of the English alphabet (Capitals) appear same when looked at a mirror ?
(a) 12 (b 11 (c) 10 d 9
Series-A 18 SVK
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T T § 3 SFHIGERT 5 9FIRRI &l | 10% HasTarsti + HagH & a1 3 20% U 31 ud
T | TooTl SEGAR T oY Tl &% 75% B el 31X 9% 10,800 Al ¥ faw=l W | 39 ga o
o1 HARTATST Sl TEAT T HINT |

(a) 29,000 (b) 30,000 (c) 27,000 (d) 28,000
T et 1 < U8 AT i -
C4X, FoU, 116R, ?
(a) L25P (b) L1250 (c) L27P d) L24M
T &N T God 3TH IR & a7 & IR HY S| A € | I€ G- IR hel H arel 7T, N

TR 1:2:3:4F AT AT | 3T ZHSl Bl 9o W WIEFR & T 1.4 TG Y U gT | 37 EX
T HifeTeh Joof T DT |
(a) R2.0°@ (by 259 (c) R3.0°@ (d 359

T 140 Ul fohett ol 3T foeh aedt Ueh =g @@ 3 150 Wi fohedl ot 8% | forehet areft gadt =t
T SFuTa H et S foh 3A1ehT 15 feedt fisyor € 2,220 o foek S 2
(a) 4:1 (by 3:2 (c) 2:3 d 1:4

Teh U ¥ 70 H F& el a1 & | 35 Ueish %ot 61 519 T 2 6 BT, Al o8 S & 30l H 4 e
T S FhelT AT | 3G GoT®d | fohel %ol a9 & 2

(a) 14 (b)y 10 (c) 16 (d 15

Teh Jdeeh T & AIATHR A Hl AThA, SUH A=TE Bl 25% d@h a7 ders & 10%
TR, T T | T T A BT &heT g ST

(a) 22.5% (b) 15% () 12.5% d 12%

AT N =553 + 173 — 723, @ N faeniste grm

(a) 3AAMITAQ (b)y 7AMI3TA @

(c) 313 T (d) 7@ 17 349

H I SO B OE § | 3T G L Bl G9T F 90° W Y AT € SR H 3G G@mw A 135° W

e ST E | 37 | Tl B fadid f9m & 270° G ST € | 376 93 e o fom ol eR € 2

(a) TRUIORER  (b) SOUREH (c) gfeaor (d) dU¥=H
ﬁﬂ@%ﬁ?ﬁ?éﬁﬁ:
(a) feom=w (b) SRl (c) SH (d) SomE
T, ol W S T €, o9 & WUR) St &
(a) ¥ (b) HSA (c) T (d) TRET
TS & I TR Y AUTHTCAT | fehee 3R YT o ARG T W U o fG& 2
(@ 12 by 11 (c) 10 d 9
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T =t
frefofitad o 9§ 9 91 v e o foam & 2
(a) dETE (b) fem=r (c) H=
fferfiaa & @ 9 @ 95 e 1 oo™ € 0
(a) TrEaor (b) T (c) SiwoT
TTiTehe WISl § ‘SR 91eg o foleli| &
(a) =ATER (b) FER (c) afTar
fr=ifeha B 9 T o foeliy I €
(a) g« (by 3 (c) @R
fotifere o 6 @ gfte o1 faeim o &
(a) 9 (b) 3t (c) mE
T few T faekedt # g ST SdTEd
(a) IFREE  (b) IREH () IRNTEH
T feT T faehedt § gg ST aTen YK

(a) FREHOT (b)  HREHOT (c) THHBHROT

frrifeper ferpedt o & Y o T IS €
(a) W (b) T (c) Wi

freferfad amet & o o €

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

FHHehIeHTOT

Y

(a) T 9T | FTET BT ST € | (b) WA & THF Y&Tl TEweTd € |

BEIE2IT]

TZehia

X

SHURHES

(c) Todl T AT HEAT R AT & | (d) STHIATRTHAIET |
foetifend o @ Y o Aol 9

(a) 3TEET (b) FTEHR (c) SRR (d)
‘& e ST Teehle] LT T S o (01T Ueh U &

(a) e (b) TRTHE (c)  STIhe (d)
T & A W T & o0 ey 9 &

(a) RREE (b) 3T (c) T ()
Foren! T A M ¥ AT & T U s &

(a) s (b) s (c) simd (d)
fehT BT SUHR T T ST ATl SISl o1 3Tejaliesh Ueh 915 €

(a) P (b) FAFA (c) TSR (d)
g G AT % ST aTe ST T ST % &

(a) STl (b) STy (c) weg (d)
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136. f=teifiaa 5 | s |1 9 dedq & 2

(a) o= (b) @ (c) 3w (d) &t
137. fr=ifnd | 9 i 97 ¥ Ae@H § 2

(a) THI (b)y & (c) & (d)
138. Trferiad foskeal o ag9d oI &

(a) 3Tmem (b) T (c) (d) 3w
139. TR fospedl § & Ag9d OI% &

(a) R (b) U © T= d I
140. T=TaREd 18] § 9 I |1 98 ol d T8l & 2

(@ T (b) THEW ) =H (d) Trferet
141. Tr=ifend foepeal 9 “afge e o1 foorsg &

(a) a9 (b) dfg (c) Toum (d) o
142. ‘U2 ! FHord Higd 9 2AT4F Bl & 1”9 a1 ° [ohg Uhi 1 faeimor & 2

(a) TUTETES foRIeoT (b) TomTcH fowoT

(c) TfeRISOT (d) TEETEE R
143. “UgTEl W g o1 eI & — TH AR H Fga’ IeE H DA T 9T § 2

(a) T&E@EEE (b)) TOEES (c) uREETEH (d) HEATHE
144. Fr=fofed & 9 o9 a1 v fogmor &1 ¢ 2

(@ 3G (b) I (c) = d Fo
145. 9 99U TR © I° SH O | foereg €

(a) 9 (b) oA (c) ot d ¢
146. “TE¢ 7 TN €

(a) TAeRom (b) Hiferar (c) TRIHAT (d) T
147. S &1 qEer= §

(a) TEUN (b) T (c) datar (d) =
148. Fr=Aifena ferpedt & dewe os &

(a) Tepare (b) U (c) =g (d)
149, frfafEd 8 9 9 91 95 “HHeT & qI=arEl Tél ¢ ?

(a) UHT (b) A (c) IR (d) T
150. f=teAfEa § i 91 9eg W 1 GaEerE T8 € ?

(a) AT (b) TovmaRt (c) T (d) AT
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